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ELECTRICAL ENGINEERING

PAPER-I

1. A single phase fully controlled bridge converter for supplying high inductive load is fed
by a voltage V_ sin wt. The average and rms values of output voltages are

IV, v v v

(a) g cos o and T'; (b) 7’3 cos o and Tr;
9 \% :
(© — cosaandV, (@ —cosaand\2V,

2. In abridge a.c. to d.c. converter usi‘ng P-N diode, if the input voltage is V sin wt, what is

the peak inverse voltage across any diode ?

(@ V (®) 2v
A Vv
© 3 (G)] 2 ’
3. In a 3-phase controlled bridge rectifier with an increase in overlap angle, the output d.c.
voltage
(a) increase (b) decreases
(c) does not change (d) depends on load inductance

4. A single phase full wave a.c. voltage controller connected from a single phase a.c. supply
of 200 sin 314 t feeds a 10 ohm pure resistive load. For a firing angle of 90°, the power

delivered to load is
(a) 0.5kW (b) 0.75kW
(¢) 1.0kW (d 4.0kW

S. A single-phase full bridge VSI has inductor L as the load. For a constant voltage, the
current through the inductor is

(@) Square Wave (b) Triangular Wave
(c) Sine Wave (d) Pulse Wave

6.  Which one pair out of following alternatives is not correctly matched related to d.c. motor
drive ? :

one quadrant-operation
two quadrant-operation

(a) Half controlled bridge converte
(b) Fully controlled bridge converter

(¢) Dual converter —  four quadrant-operation
(d) Step up chopper — two quadrant-operation
7. For speed control of low speed high capacity synchronous motor, the power electronic .
circuit used is : ; '
(a) A.C. voltage controller (b) Current fed inverter
(c) Voltage fed inverter (d) Cyclo-converter

8.  Assertion : Slip power recovery control is used for speed control of three phase slip
: ring induction motor. :
Reason : ' It provides wide speed control down to low speed.
(a) Assertion and Reason are correct. Reason explains Assertion.
(b) Assertion and Reason are correct. Reason does not explain Assertion.
(c) Assertion is true. Reason is false.
(d) Assertion is false. Reason is true.
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Output of a welding machine is

9. y
(a) High voltage and high current (b) Low voltage and low current
(c) High voltage and low current (d) Low voltage and high current
10. Inaplain smgle phase inverter
(a) The maximum output frequency is less than frequency of damped oscillation.
(b) The output frequency can be even higher than the frequency of damped oscillation.
(c) The output frequency is equal to the frequency of damped oscillation. :
(d) "All of the above
11. A three phase bridge inverter operating in 180° mode of operation supplies a three phase
pure Y-connected resistive load. The r.m.s. value of fundamental line to line output
voltage is
(a) 04714V, () 07797V,
(c) 08165V, ) ¥
where V is input d.c. supply voltage
12. In a three-phase to single phase cycloconverter, the number of thyristors used are
(@ 4 ® 6
c) 8 (d 18
13. For four quﬁdrant operation of separately excited d.c. motor, the converter used to
(a) half controlled bridge converter (b) fully controlled bridge converter
(c) dual converter : (d) cyclo-converter -
14. Consider following power electronic circuits related to two-quadrant operation of d.c. drive : |
1.  Half controlled bridge converter. 2.  Fully controlled bridge converter.
3.  Dual converter 4. Chopper
Out of these statements :
(a) -1,2 and 3 are correct (b) 2,3 and 4 are correct
(c) 3,4 and!1 are correct (d) 4,1 and 2 are correct
15. Consider following statements related to a current fed inverter :
1.  Capacity to recover from occasional commutation failure.
2.  Noisy operation
3.  Capability of four quadrant operatlon
4.  Simple control and firing circuits.
5.. Reverse voltage with standing capability -
Out of these statements :
(@) 1,2 and 3 are correct (b) 2,4 and 5 are correct
(c) 1,3 and 4 are correct (d) 1,3,4 and5 are correct
16. The PWM technique that provides superior perfonnance charactensucs in reducing
harmonics in three phase voltage source inverter is
(a) space vector PWM
(b) sinusoidal PWM
(c) selected harmonics elimination PWM
(d) minimum ripple current PWM
Series-A 4 SES-08
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17. A phase controlled converter having ideal thyristor has an overlap of 30° at & = 0°. The
overlap of the converter when it operates at the inverter limit will be
(a) 60° (b) 30°
(c) less than 30° (d) greater than 30°
18. In a 3-phase full wave a.c. to d.c. converter, the ratio of output ripple frequency to supply -
voltage frequency is : ;
(@ 2 b 3
) 6 d 12
19. In a single-phase full wave converter, if load current is I and ripple free, then average
thyristor current will be ;
1
(@ I ; b) 3I
1 | 1
() 2! (d) 2
20. A Switching Mode Power Supply (SMPS) operating at 20 kHz to 100 kHz range uses
which of the following as the main switch ? .
(a) ‘SCR (b) MOSFET
(c) TRIAC (d UIT
21. A step down d.c. chopper has an input voltage V, if duty cycle is o and the load is a
resistance R, the rms value of output voltage is
@ av ® Aav
Vv
© oV B
22. A step down chopper is connected to a d.c. supply. For duty ratio of 0.4 p.u., the output
voltage is 96 V. For the same duty ratio, the output voltage provided by the step up
chopper will be
(@ 180V (b) 240V
() 300V d 400V
23. A step down chopper connected to a d.c. supply, supplies a separately excited d.c. motor
at a duty ratio of o. The ripple factor in the terminal voltage of the motor assuming
_* continuous current conduction is ‘ ;
: o l=@ " -
(a)‘ l-o ‘ = : (b) o [
/l -0 | o
(e - p d -
24, A step'up chopper is required to deliver load voltage of 660 V from a 220 V d.c. source. If
the non-conduction time of the thyristor is 100 p sec, the required pulse width is
(2) 300 usec (b) 200 psec
(c) 100 psec (d) 400 psec
Series-A : ' 6 : : SES-08
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18, e firemen oot T, @ R, e o Pt i st aiv s faa s o R &
(a) 2 ® 3
©) 6 £ @ 12
- 19, T Ul ot i oftafter & A e ur 1§ e s e @ w s e wa
@ 1 | (b) -;;1
ol I
© 3l @ 3
20, - Feafi Hre TER W (SMPS) 20 KHz & 100 kHz forem o i weeh &, Fre 3 @ ot e
Tiearer 1 o WERT A & 2
(a). SCR : (b) MOSFET
(¢) TRIAC (d UIT
21, T T R, S S S V § | 9% 9 S o SR 9T S R &, o Fr
e S 91 -A1F-06 (FR.UA.09.) 79 §
@ o ® av
© @V - O G
T ST =R o R e e & 10,4 0.3 R oam & ford e steea 96 V ¥
I T ¥ ford g =R g ot Steean &
(@ 180V (b) 240V
(¢ 300V d 400V
23, e ST < T R S R ST 6 U T o SR R Fe o F SR
S AT & | A SR e Bl A g4 A i R siteear J S o §
s 1-a
20 ) S garess .
' -0 o
N ‘ @ \1-a
24, T FeEE 9 H 220 V & f.an. e e @ 660 V 9K fava faafa s & 1 3R aRfee w
ST T 100 | sec &, Tt SEEH WE H AT BN :
(@) 3007w ®. : (b) 200 W .
(c) 100 TSt |- (d) 400 TTERT &
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25. A single phase half controlled bridge rectifier has supply voltage of 400 sin 314 t and
supplies a resistive load. For a firing angle of 60°, the average output voltage will be
200 240
W =N o
300 :
) =N : (d) 400 Vv
T
26. The minimum number of 2-input NAND gates required to construct one 4-input NAND
gate is
(@ 2 b 3 g
(c) 4 @ 5 » ;
27. The logic families particularly suited for implementation of LSI and VSI functions are .
(® PL (b) ECL
(c) Schottkey TTL - (d) CMOS
28. A full adder circuit has
(a) two inputs and one output (b) two inputs and two outputs
(c) three inputs and one output (d) three inputs and two outpits
29. A full substractor can be constructed from two half substractors and a
(a) 2-input NAND gate (b) 2-input NOR gate
(¢) 2-input OR gate (d) 2-input AND gate
30. A bulb is controlled by two switches A and B. The bulb glows only when either switch A
or switch B is ON. Its Boolean expression is
(a) AB+AB (b) AB+AB
(c) AB+AB (d) AB+AB
31. A multiplexure has n data inputs, m control inputs and one data output, then
(a) 2™=n ) 2=
() m"=2 (d n’=m
32. The basic sequential logic building block in which the output follows the data input as
long as the ENABLE input is active, is
(a) J-K flip-flop : (b) * D flip-flop
(c) T flip-flop @ D Latch
33. How many FFs are required to build a binary counter circuitto count from 0to 1023 2
: (@ 1 (b) 6
() 10 @ 24
34, The Boolean expression (A + C + D) (B + D + C) may be simplified as
(a) AB+CB (b) AB+C+D ‘
(¢) A+BC+D s (d A+B+CD

Series-A 8 : ‘ SES-08
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25. T T e o P ¥ Rt 9 o S 400 sin 314 ¢ & st v g W
SYFT A& | 60° HrgReT oy 3 fordt mﬁﬁaaﬁmﬁ*ﬁ
200, 240
W) 5 : B TN
. 300 : 400
(c) e | o v
26. T 4-FEeit NAND e 9t 5vam 3 ford 2-Fraelt NAND et % mvarvaes g de &
Soay (b) 3
(© 4 d 5
- A Lsmhvsrma%mm%mﬁmmﬁwv&mm%
(@' I2L : ; (b) ECL
(c) W@ TTL (d CMOS
TS Ut T IRTY 7@ §
(@) < fafemt o) o fata (b) < fafT ok 3 Fold
_ (c) o Fafirt it o Rl (d) = fafimt sk g fore
29, U U WA A S oF GaegeA § wriaa Rear o wehe € o
(a) 2-FE¥t NAND =@ (b) 2-FA¥INOR Wz @
(©) 2-favit OR T2 & (d) 2-fasft AND 2R
30. WWﬁﬁﬂﬁAaﬁTBﬁﬁﬂﬁmﬁmﬁlﬁﬁm%ﬁﬁﬁmﬁﬁfﬁﬂAmﬁaﬂBm
A& | T o Fw |
(a) AB+AB (b) AB+AB
() AB+AB ' (d AB+AB
31. wa@%ﬂmﬁnmﬁﬁﬁﬁr,mﬁﬂwﬁéﬁﬁaﬁr@mﬁﬁataﬂ
(a) - 2M=n (b) 2°=m
() m"=2 : : (d n’=m
32. @mmﬁmmﬁw&%mﬁ&:ﬂmmmwm% T TR
ENABLE v ot , &
(@) J-K fre-wig (b) D fem-wrT
(¢) T fwm-wim . d D=
33, 0% 1023 7 i & ford framedt srevex ufte %t v w03 3 ol et s o & 9
(@ 1 ® 6
(c) 10 d) 24
34, T STF (A + C + D) (B + D + C) Ft wehgra e o weper &
: (@ AB+CB®™E (b) AB+C+DHE
() A+BC+D#®tE (d A+B+CD#:™e
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35. For a free running multivibrator, an external trigger is employed
(a) .always (b) never : .
(c) if output voltage is to be regulated  (d) if frequency stabilization is required

36. Which of the following is used for timing devices :
(a) Astable multivibrator (b) Monostable multivibrator
(c) Bistable multivibrator . (d) Schmitt Trigger

37. The speed of an digital IC indicates
(a) how fast a flip-flop can change stages (b) how fast input triggers the output
(c) the rate at which output changes (d) none of these

38. A full adder can be implemented with half adders and OR gates. A 4-bit parallel full adder

without any initial carry requires
(a) 8 half adders, 4 OR gates (b) 8 half adders, 3 OR gates
(c) 7 half adders, 4 OR gates - (d) 7 half adders, 3 OR gates

39. Which of the following statement is wrong regarding a multivibrator ?
(a) Output is available continuously
(b) Feed back between two stages is 100%
(c) Positive feedback is employed
(d) When one transistor is ON, the other is OFF.

40. A CE transistor amplifier has hg, = 100, b, = 5.2 kQ and r, = 0. At room temperature V

=26 mV, the collector current ’Icl will be

(a) 10mA (b) SmA

() 1mA (d) 0.5mA
41. Monolithic ICs are fabricated within a 7

(a) soft stone (b) single stone

(c) silicon layer (d) ceramic layer :
42. A BCD-to-7 segment decoder has 0100 on its input, The active outputs are

(@ acfg () b,cfg

() b,cef (d b,dezg

43. The circuit shown in following figure is a

+5V
a

Ao—¢ : .
B o—K] —oY | |
¢ o—K i
(a) 3-input AND gate o (b) 3-input OR gate
(¢) 3-input NAND gate - (d) 3-input NOR gate .
Series-A 10 SES-08
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35. W agETE B aw iR 3 #
(a) @ (b) i
(¢) afefriasieea s fafmsma | (@) 3k sala e i smevawar e |
wrfeRe & Sied & fow uftae e e § ?
(a) T g (b) e W gETE
(o) fr-vifer wgeh @ v
37. foeit fefores IC =t =t sl &
(a) foperit sTest fireT-eity o7o=it fearferat seeren & |
®). i’eﬁﬁﬁﬁﬁﬁﬁﬁﬁ%ﬁ@ﬂmiy
() Frase AR
(d) T« FE T
38, .Ul TeT F fRAraER TR a1 OR e @ fn oy & | fowet wrifivs efee & R
4-5T% FHHTR U1 g7k o frferiaa 3 avasaT g  ;
(a), 8 3T, 4 OR e (b) 8 I, 3 OR 1T
(c) 7 3NESTH, 4 OR e (d) 7 snigioT, 3 OR e
39, TEHUF & G A B G HYA T & ?
(a) TriaETEaRSTIEAE |
(b) TR % o9 [T 100% AL |
(c) AT (A W et & |
(d) T U ISR 21 BT & Aa §63 S e g |
T CE Zifrex 5o # hy, = 100, hy, = 5.2 KQ @1 1, = 0. F & AHH | Voo = 26 mV,
e o || gl
(a) 10mA ®) 5mA
(c) 1mA (d 0.5mA
41. Tty ICs #1 Fmior frads swaia fear sar & 2
(a) TITT TR (b) THFe TR
(c) fafepmma (d) fafrwwa
42. TS BCD-to-7 9= fesret 1 f@w 0100 ¥ | 39 whira fnfa st
(a) a¢flg () b,cf,g
() b,cef (d b,deg
43. i fomr & gt mar oftew @ o
: +5V
2
Ao—K+—
P —ia
e e o
(a) 3-Favi AND e )  3-FERttOR e
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(c) 37t NAND = (d) 3-fasit NOR 2
44. The circuit as shown below will work as
it
vaP TR R
(a) Positive clipper (b) Half-wave rectifier
(c) Positive clamper (d) Negative clamper
45.  Which one of the following is not a sequential circuit / system ?
(@) Clocked S-R flip-flop (b) Shift register
(¢) ROM (d) Ripple counter
46. Output of a logic gate is ‘1 when all its inputs are at logic ‘0’. The gate is either
(a) aNOR ora NAND gate (b) aNOR oran XOR gate
(c) aNAND oran OR gate (d) aNAND oran XOR gate
47. In Boolean Algebra, if F = (A + B) (A + C) then
(@) F=AB+AC () F=AC+AB
() F=AB+AB (d F=AC+AB
48. In the television system in India, the odd and even fields are scanned for
(a) 25 times each (b) 25 times each but alternatively
(c) 50 times each (d) 50 times each but alternatively
49. The magneuc field used in the cavity magnetron to
(a) prevent anode current in the absence of oscillations.
(b) ensures that the oscillations are pulsed.
(c)  help in focusing the electron beam, thus preventing spreading.
(d) ensures that the electrons will orbit around the cathode.
50. The modulation index of an AM wave is changed from 0 to 1. The transmitted power will be
(a) unchanged (b) halved
(c) ~doubled (d) increased by 50%
- 51. One of the following is very useful as multiband HF receiving antenna. This is the e
(a) conical horn (b) folded dipole
(c) log periodic (d) square loop
- 52. A rectangular air filled wave guide has cross-section of 4 cm x 10 cm. The minimum
frequency which can propagate in the wave guide is
(a) 15GHz (b) 2.0GHz
() 25GHz _ (d 3.0GHz
33. In an ideal transmission line with matched load, the V.S.W.R. and reflection coefficient
are respectively
(@ 1land0 (b)) 1 _and 1 _
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44, e fax o geiar mar ooy T8 R W w0
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(c) TS TR C(d) RO FOTER
C | 45, PR d R B T i URuY / W e 2
. (a) FE S-R frrg-vemg (b) forw Fre
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46. U e & frfa <1 & et uet ot Prafert a% 0 et arar
(a) THNOR 394l TF NAND 72 (b) THNOR 37%aT TF XOR 72
(¢) TS NAND 3991 0% OR 112 (d) U= NAND %@ UF XOR 2
47, gferam @i & af§ F= (A + B) (A + C) &, &t
_ (@ F=AB+AC (b) F=AC+AB
'(¢) F=AB+AB (d F=AC+AB
48. RT3 ISR WO ¥ w9 T e gy S A #
(a) ¥EH25R (b) W 25 AR FF<] TF & TR UF
(c) W% 509K (d) ¥EF S50 R FqEF IR

49, & FrigE & g & vgE g g
(a) el = sryaref § wArs Wt A & ol |
(b) o wiee ¢, GHtead F & o |
(c) ToiaRM S % W § WETHAT 56 WK Herld &l U & ol |
(d) & g w3 & o i e $ute & w1l iR e e |

c L. 50, AM T w1 HIge Tew 0 @ | Ratdd farar s & | Saite i @t

(a) omuEfaE (b) Im
() FTH d) 50% s@it
51. Heeidvs HF Ut U= it ote frefefiae § @ #i9 o aga suge € 2
(a) wIfTeTaH ; (b) Wiees TR
(c) wir fuftenfes (d) FIRTY

52. U SEAIHR AT W g% a1 PRI 1 S e 4 T x 10 {9 ¥ 1 =gew amght ot w
- T & geor R Tt €, w

(@) 1.5GHz (b) 2.0GHz
(c) 25GHz (d) 3.0GHz
53, WR¥ YRIeTT &1t §U U S WU A & V.S, W.R. 3R W otk Fuw: &
(@) 17E0 (b) 171
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54. If the radiated power of AM transmitter is 10 kW, the power in the carrier for modulation
index of 0.6 is nearly ;
(a) 8.24kW (b) 8.47kW
(c) .9.26 kW (d) 9.60kW
S5. The noise figure of an amplifier is 3 dB. Its noise temperature will be above
(@) 145°K (b) 290°K
(c) 580°K (d) 870°K
56. The cavity magnetron uses strapping to
(a) ensure bunching (b) improve the phase focusing effect
(c) prevent cathode back heating (d) prevent mode jumping
57. In microwave telemetry, repeater stations are required at every
(@ 2km (b) Skm
() 40km (d 100km
58. The main disadvantage of the two hole directional coupler is
(a) low directional coupling (b) poor directivity
(c) high SWR (d) narrow bandwidth
59.  Which of the following modes does not exist in waveguides ?
(a) TE,;mode (b) TE,, mode
(¢) TEM mode (d) TM,, mode
60. Which one of the following wave guide tuning components is not easily adjustable ?
(a) Screw (b) Iris
(c) Stub (d) Plunger
61. Satellites used for intercontinental communications are known as
(a) Comsat (b) Domsat
(c) Marisat (d) Intelsat
62. One of the reasons why vacuum tubes eventually fail at microwave frequencies is that their-
(a) noise figure increases
(b) transit time becomes too short
(c) shunt capacitive reactances becomes too large
(d) series inductive reactances become too small
© 63. Cassegrain feed is used with a parabolic reflector to
(a) increase the gain of the system
(b) increase the beamwidth of the system
(c) reduce the size of the main reflector
(d) allow the feed to be placed at a convenient point
64. In a modulation system, if the modulating voltage remain the same, the modulation mdex
.is halved, when the modulating frequencies is doubled, the system will be
(@ AM (b) FM
Series-A : 14 SES-OS




59,

(c) DM (d) None of the above
- 54, wﬁWAM;mﬁaas'rﬁfawﬁwﬁm10kwtﬁmmo.6$mma&mﬁam
T ‘
(a) 8.24kW (b) 847kW
(€) 9.26 kW @ 9.60kw
55. fersit wander =1 eaf SitereT 3 dB ¥ | T ey aTosE Bl eRT
(a) 145°K (b) 290°K
(c) 580°K - (d) 870°K
56, P Arigr § wfm e A e |
(a) wRETEE Y s (b) T HIHRT WS T g
() FATTSAFAFAE] (d) =te i i A &g
57. gEwT Ieig d fdler R ) sV e 8, S
(@ 2/FALw b St w
(c) 40fsar w (d) 100 fwHL w
58. fafox e Foer #i g Ef
(a) et fores waferr (b) TR
(c) T=SWR (d) wpiaa dvefagy
R s e g f s o ae T @ 2
(@ TE, ™ (b) TE,, e
" () TEMH® d) TM,, AiE
60. 1 = & i Fferem gfi vt & @ i o @ wRREST T & 2
(@ # (b) omfw
(© =+ (d) w=R
61, FFHETEIN TRV § Y ITUE FEA §
(@) FHA : (b) WA
() wAeT (@ TREAER
62. Fveie g aw T g w i fawer & S ¥ 2 wwol § YU d fE
(a) T 7@ AHA T A E |
(b) ZifSre %1 T S w7 & T g |
(c) Ve urite wfeand sga afuw & s & |
(d) =it iR wiaE w5q 9 8 SR F
63.  RTETE WA ¥ WY H wre 1 wE v ¢ '
(a) = %I Aoy wgH F fom (b) T H AT R TR F v
(€) TS RETHH AT FARA ST (d)  Fie o 3hae oH T e 53 & ford
64. .mwmﬁﬁwﬁwmmtwmﬁmﬁmm&mw
- e g e e 8, A somet @
(@ AM (b) EM
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65.

66.

67.

68.

69.

70.

71.

72.

73.

(c) DM C(d) TR @

In a PCM system, the number of quantization levels are 16 and maximum signal
frequency is 4 kHz, the bit transmission rate is

(a) 64 K bits/sec. (b) 16 K bits/sec.

(c) 32K bits/sec. (d) 32 bits/sec.

A band pass signal has significant frequency component in the range of 1.5 MHz to
2 MHz. If the signal is to be reconstructed from its samples, the minimum sampling
frequency will be :

(a) 1MHz (b) 2MHz

(¢) 3.5MHz (d 4MHz

For low attenuation, the best transmission medium is ‘
(a) Flexible waveguide (b) Rigid waveguide
(c) Rectangular waveguide (d) Coaxial line

A piston attenuator is a

(a) Vane attenuator (b) Waveguide below cut off
(c) -Modefilter (d) Flap attenuator -
Indicate which of the following is not a TWT slow wave structure :
(a) Periodic-permanent magnet (b) Coupled cavity
(c) Helix (d) Ring bar

Time division multiplex '

(a) can be used with PCM only

(b) combines five groups into a super group

(c) stacks 24 channels in adjacent frequency slots

(d) interleaves pulses belonging to different transmission

If the antenna diameter in a radar system is increased by a factor of 9, then the maximum
range will increase by a factor of

@ 3" ® 3

fe) 9 (d) 81

Picture information is transmitted in TV signal by

(a FM (b) AM
() PAM (d) PNM
The multicavity Klystron

" .(a) isnota good level amplifier because of noise.

74.

75.

(b) - has a high repeller voltage to ensure a rapid transit time.
(c) is not suitable for pulsed operation i
(d) needs a long transit time through the buncher cavity to ensure current modulation

The non-resonant antenna is -
(a) Dipole ~ (b) Yogi-uda
(c) Monopole (d) Rhombic

A short vertical grounded antenna is designed to radiate as 1 m c/s. If the effective height
of the aerial is 30 meters, the radiation resistance will be ' -
(a) 18.5 ohms (b) 15.8 k ohms
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' (c) 15.8 ohms (d) none of the above
65. T TR T WG 7 §, TER (FRSH) T H E 16 AR Afuwan FHa @
4 Pereiigest 8, g8 TR T8 '
(a) 64 et SR (b) 16 fereit S/,
(c) BZﬁFﬁ’IiﬁW/ﬁ @ 32
66. @ﬁmmmwnﬁw}wﬁmmeﬁzmaﬂmﬁ%m‘r‘:wmﬁ
T YT | TR FA 8, A g dwfent gt at
(@) 1MHz (b) 2MHz
(¢) 3.5MHz _ (d) 4MHz
FH &l 3 ford, Fad 37T =R aTeEn §
| (a) el o R (b) e i
@ agaTER qon fR (d) U Y A
68. T fuweA v e
(a) &R (b) o Fdfir w2 oftw & =
(c) e Rt (d) Y &R
69. mﬁﬁﬂﬁﬁml‘wwﬁﬁmmﬂﬁ%
C (a) Ty e e (b) FmawR
() e @ f
70. HEF 9 Aol erad
(@) PCM%mzrﬁmﬁm’rm%l
(b) 9T T I, TH ASWEH ASAL |
() 24%?&?#@%%@@%:«?{?@31%«
(d) Fafe s=won § wafud el ot sioRmat (F=eien) A& |
71 uﬁwm~mﬁmmm9ww&mmﬁaﬁwmwwﬁ
@ ~3TT ® 37T
€ 97 . (d 8l
Tea e 1.4, e & et # o &
(@ PMEmr (b) AM &R
() PAMEW (d) PNMER/T
73, SgHI o
(a) X % FROT T 37D T H TR TEE |
(b) T v=a frier fanre v & vty wewor g gifEa w1 & ol
(cy wifed wamer % ford ST A E |
(d) %wﬁa%wﬁmwmﬁmﬁthqﬁﬁmw
74, 3 SRS T 8
(a) TE-d | (b) drit-zer
(¢) HE-AE . (@) U=
75. U o ST el e 1 m.o/s. w fafsite 0 & ot orfiefoma frar man & 1 afc
© g e 1 WS S 30 Hiet & at faferor wferty g
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() 1583 (d) IR I wE
76. The starting current of a three-phase induction motor is five times the full load current
while its full load slip is 4 percent. The ratio of starting torque to full load torque is

(a) 0.25 (b) 0.50
(© 1.0 d 2.0
Neglect stator impedance

77. A three phase induction motor runs above the synchronous speed For self excxtatlon, the
machine
(a) draws real power from the supply
(b) draws reactive power from the supply
(c) feeds reactive power to the supply
(d) feeds real and reactive powers to the supply

78.  For a high starting torque, the most suited three phase induction motor is
(a) slipring type (b) squirrel cage rotor type
(¢) deep bar squirrel cage rotor type (d) double cage rotor type

79. The torque speed characteristics of a repulsion motor resembles w1th that following type
of d.c. motor :
(a) separately excited type (b) shunt type
(c) differentially compounded type (d) series type

80. Drag cup rotor is used in 2-phase a.c. servomotor
(a) toincrease efficiency (b) toincrease generated torque
(c) toachieve fast dynamic response (d) to control speed

81. Consider following statements related to universal motor ;
1. Speed v/s. torque characteristic is similar to d.c. series motor.
2. Speed is dependent on frequency of supply.
3. . Power factor is poor
4. No problem of sparking at brushes
Out of above statements :
(a) 1and 2 are true (b) 1 and 3 are true
(c) 1,2 and 4 are true (d) 1,3 and4 are true

82. A four pole three phase induction moter is running at 4 percent slip at full load. If the
speed of motor be 720 rpm, the supply frequency is

@ 16H ®) 25H:
(c) 30Hz . (d SO0Hz

83. 'If the input to prime mover of an éltcmator supplying load to an infinite bus is suddenly

stopped, the alternator

(a) will stop

(b) will continue to run as an alternator :

(c) will continue to run as a synchronous motor running in the reverse direction
(d) will continue to run as a synchronous motor running in the same direction

84. The optimistic method of voltage regulation of a three-phase‘altemator is
- (a) synchronous impedance method (b) MMF method
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76.

77,

78.

79.
80.

81.

82.

83.

84,

: (c) Zero power factor method (d) ASA method
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85.

86.

87.

88.

89.

90.

91.

9.

(c) ¥ wifew Tores fafiy (d) ASA fafr

Which one pair is not correctly matched in the following options related to asynchronous
generator ?

List-1I - List=1I
(a) Inductive load - Positive voltage regulation
(b) Fractional pitch winding - Reduction in harmonics
(¢) Cylindrical rotor - Reluctance power zero
(d) Under excitation - Lagging power factor
Which one pair is correctly matched in the following options related to electric motor ?
List-1I List - IT
(a) Universal motor -~ Poor power factor
(b) 2-phase ac servomotor — High inertia rotor

(¢) Under excited synchronous motor - Leading power factor
(d) Deep bar induction motor Low starting torque

Zero power factor method in an alternator is used to find its
(a) Efficiency (b) Voltage regulation -
(c) Armature resistance (d) Synchronous impedance

A 6-pole, 50 Hz, 3-phase induction motor has a full load speed of 950 rpm At half load its
speed will be

(@) 475 rmpm (b) 500 rpm

() 975mpm (d) 1000 rpm

One of the basic requirements of a servomotor is that it must produce high torque at all
(a) Loads . (b) Frequencies

(c) Voltages (d) Speeds

The most common two phase a.c. servomotor differ from the standard a.c. induction motor

because it has
(a) higher rotor resistance (b) high power rating
(c) greater inertia (d) none of the above

At low values of slip ‘s’, the torque of a three phase a.c. induction motor is proportional to
g 1; i ; A
(V, is stator voltage, r, is rotor resistance referred to primary side)

Vi vi
@ —-(1-9 e
Iy Iy
© Vin(-s) @ Viry-s st

A three phase fault occurs at the terminals of an unloaded alternator at an instant when. a.c.
voltagc in one phase is at maximum value. The variation of d.c. component durmg fanlt
period in that phase will depend upon

‘(a) Sub transient time constant (b) Transient time constant
(c) Open circuit time constant (d) Armature time constant
2
93. In a synchronous machine, pitch factors for 5 3 short pm:h and 6 short pitch CUI]S are
respectively ‘
(a) 0.5,0.833 (b) 0.866, 0.966
~ Series-A 20 B SES-08




86.

(c) 0.66,0.833 (d 0.707,1.0

© 85, qogel S | wrtua e fapedt § | i W g wE g w1 e 2
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(c) 39 Iuifva Jegaet Hiex — ST e TR
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88. U6-Yd, 50 Hz, e IR0r Hiex & qut W 717 950 rpm ¥ | SR W et nfer gy
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() 975rmpm (d) 1000 rpm
89, U WATHI i WTHUfeh STvhall 7€ ¢ o T& I aot- M0l S 1 <ied
(a) W 9RI W : (b) Tt syt w
() uf dreearat W d @t = w
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I 2
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92, T Freren 21w I Wt % Rl W 39 7o e g § 19 V.41 Sieedr Uh e § SeEan
HA W E | Y e o ST (5. 67 ¥ ® ufiae= 36 e ® fqram
(@) S9-aifore w9 fEais (b) forer Tuy Fgare W
(c) e ufke T i | (d) R T Fraas W
93, @ﬂﬁwﬁﬁmﬁaﬁﬁam3=§mﬁamw6mﬁamﬁ$ﬂmﬁwﬁm
BT
(a) 0.5, 0.833 (b) 0.866, 0.966
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94.

95.

96.

97. The torque developed in a 3-phase induction motor will be maximum when its rotor
circuit power factor becomes :
(a) 0.707 leading (b) unity
(c) 0.8lagging (d) 0.707 lagging
98. Which one of the following is correct application of Amplidyne ?
(a) Starter for motor (b) Speed control of motor
(c) Excitation systems (d) Asinverter
99. In stepper motors
(a) moment of inertia is usually high
(b) starting current is high
(c) closed-loop digital feedback control is not possible
(d) bi directional control is possible
100. If the torque angle of a 4-pole synchronous motor is 8 degree electrical, 1ts value in
mechanical angle is
(a) 4 degree (b) 2 degree
(¢) .0.5degree (d) 0.25 degree
101. The 5™ harmonic component of the induced voltage in a 3-phase a.c. synchronous
generator can be entirely eliminated if winding pitch used be
2 4
@ 3 ®) 3
3 e
© % : @ 3
102. The nature of operating power factor of a 3-phase a.c. induction motor is
(a) always lagging (b) always leading
(c) may be lagging or leading (d) always umty
103. ' A single phase a.c. hysteresis motor can run at
(a) synchronous speed only.
(b) sub-synchronous speed only.
(c) synchronous and super synchronous speed.
Series-A 22 SES-08 :

(c) 0.66,0.833 (@ 0707, 1.0

In alternators damper windings are used to
(a) prevent hunting (b) reduce eddy current loss

(c) make the rotor dynamically balanced (d) reduce armature reaction

When the load of a normally excited synchronous motor is increased, its power factor
tends to

(a) unity (b) become increasingly leading
(c) become increasingly lagging (d) remain unchanged

A 3-phase, 400 V, 50 Hz salient pole synchronous motor will have maximum power at
load angle

(a) 145° (b) less than 90°

(c) 90° (d) more than 90°




(d) synchronous and sub-synchronous speed.

94, WEETE (FERAR) F W AT NI F A §
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114, ;
© - (a) Air blast circuit breaker (b) SFgcircuit breaker

104.

105.

106.

107.

108.

109.

110.

111.

112.

- 113,

(d) Tl 3 SY-qeae 91 W T FH E

The voltage fed to the two windings of a two phase a.c. servomotor must have phase
different of

(@ 0° (b) 90°

(c) more than 90° (d) 180°

In synchronous machine the armature flux helps the main flux when the load power factor is
(a) zero lagging (b) unity

(c) zero leading (d) 0.8lagging

If two mechanically coupled alternators deliver power at 50 Hz and 60 Hz respectively,
then highest speed of the coupled alternators is

(@ 500 rpm (b) 600 rpm

(c) 3000 rpm (d) 3600 rpm

A 3-phase, 4-pole, 50 Hz induction motor is rotating at 1410 rpm at full load. The value of
induced rotor current frequency will be

(@ S50Hz (b) 47Hz

() 3Hz 7 (d OHz

In which type of motor, rotor resistance starter is used ?

(a) Slip ring induction motor (b) Squirrel cage induction motor

(c) Single phase induction motor (d) synchronous motor :
Shaded pole is used in which type of motor ? =
(a) .d.c. motor (b) 3-phase synchronous motor

(¢) 2-phase a.c. motor (d) single phase induction motor

For an 3-phase a.c. induction motor, operating at a slip S, the ratio of developed
mechanical power to air gap power will be

@ (1-SP ) (1-95)
© 1-5 @ 1-v8S

Reactive power output of an a.c. synchronous generator at lagging power factor is limited by -

(a) Armature current (b) Field current
() Load angle (d) Armature and field current
SF gas is used in circuit breaker because :

(a) It is cheapest.

(b) Its liquification temperature is less than 0 °C.
(c) Its dielectric strength is highest.

(d) Itis easily available.

The circuit breaker used for the protection of HVDC transmission line is
(a) Air blast circuit breaker (b) SF circuit breaker

(c) Vacuum circuit breaker (d) None of above

The circuit breaker used for the protection of EHV ac transmission line is

() Vacuum circuit breaker (d) Minimum oil circuit breaker

115. The relay used for protection of high voltage a.c. transmission line against earth fault is
/ (a) Instantaneous over current relay (b) Impedance relay
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(c) witrema fist (@ wif@
116. For protection of distribution line, the following circuit breakers may be considered :
1.  Bulk oil circuit breaker 2.  Air blast circuit breaker
3.  Air circuit breaker 4.  Vacuum circuit breaker
Out of these
(a) 1 and 2 are used (b) 2and3areused
(¢) 3and4 are used (d) 1 and 4 are used
117. The relay used for the protection of high voltage a.c. transmission line against power
swing is
(a) Instantaneous overcurrent relay (b) Impedance relay
(c) Reactance relay (d) MHO relay |
118. A fault in transmission is highly severe from the point of view of RRRYV if it is a
(a) Short line fault (b) Long line fault
(¢) Medium line fault (d) Generator fault
119. Simultaneous tripping of circuit breakers at both ends of a transmission line is achieved by
(a) Pilot protection (b) Overcurrent protection
(c) Distance protection (d) None of the above

120. The following protection is not used in power transformer : :
(a) Earth fault protection (b) Inter-turn fault protection
(c) Reverse power flow protection (d) Overfluxing protection

121. In case of bus bar fault, the bus zone relay
(a) must trip all the breakers connected to the bus-
(b) must give an alarm for bus fault
(c) must trip one breaker connected to the bus
(d) none of the above :

122. The voltage drop across the arc in an a.c. circuit breaker is -
(a) leading the arc current by 90° (b) lagging the arc current by 90°
(c) in phase with the arc current (d) in phase opposit to the arc current

123. Match List — I with List — II and select the correct answer using the codes given below the

lists
oo Rist=1 ; List - II
(Type of fault in generator) (Type of protection)

A. Turn to turn fault 1. - MHO relay
B. Loss of excitation 2.  Negative sequence over current relay
C. Unbalance loading 3.  Reverse power protection
D. Turbine failure 4. Differential protection

R LB
e e A g
- e g R Bt
) o Ul (SR B .
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124, Which of the following statement is true for MHO relay ?
(a) Directional restrained over current relay
(b) Directional restrained over voltage relay
(¢) ' Voltage restrained directional relay
(d) Voltage controlled overcurrent relay
125. Direction over current relay is used for which of the following ?
(a) Generator (b) Transformer
(c) Ring main distributor ~ (d) None of these
126. Which one of the following statements is correct ? Arc in a circuit breaker is interrupted at
(a) zero current. : ;
(b) maximum current.
(c) maximum voltage.
(d) None of these :
127. Which of the following relay has the capability of anticipating the possible major fault in a
transformer ? .
(a) Differential relay (b) Overcurrent relay
(c) Overfluxing relay ' (d) Buchholz relay
128. How many relays are used to detect interphase fault of a 3-phase system ?
(a) one (b) two
(c) three (d) six _ !
129. Which of the following is the main relay for protecting 90% of transmission line-length in
the forward direction ?
(a) Directional overcurrent relay
(b) Carrier current protective relay
(¢) Impedance relay
(d) MHO-relay
130. Which is the preferred type of circuit breaker to be installed in high voltage system ?
(a) Air blast circuit breaker. (b) Vacuum circuit breaker
(c) Bulk oil circuit breaker (d) None of these
131. The surge impedance of a 50 km long underground cable is 50 ohm. For a 25 km length it
will be : ; £
~.(a) 250hm . (b) 500hm
(c) 100 ohm . (d) none of the above
132. If the fault current is 2000 A, the relay setting is 50% and CT ratio is 400 : 5, then plug
setting multiplier will be
(@ 10 (b) 15
) 25 @ 50
133. Negativé sequence relay is normally used for which of the following ? 2
(a) .Transformer {b) Generator
Series-A 28 SES-08
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(¢) Transmission line (d) None of these
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(c) URYOrEE (d) T =E
134. The protection against direct lightening strokes and high voltage steep waves is provided by .

(a) ground wires :

(b) lightning arrestors only

(c) both lightning arresters and ground wires

(d) -earthing of neutral

135. The minimum oil circuit breaker has less volume of oil because
(a) there is insulation between contacts. : j
(b) solids insulation is provided for insulating the contracts from earth.
(c) the oil between the breaker contacts has greater strength.
(d) none of the above

136. PSM for the relay having CT ratio = 400/5, :
Fault current = 6000 A and percentage relay setting = 150 will be
(@ 5 (b) 10
() .75 d 05

137. In a short circuits test on a circuit breaker, time to reach the peak re-striking voltage is 40
L sec. Frequency of oscillation is
(a) 20kHz (b) 10kHz
(c) 40kHz - (d) None of the above

138. For a Buchholz relay, which of the following statement is not correct ?
(@) They protect the connecting cables.
(b) They indicate incipient faults
(c) They can be used in transformers provided with conservator
(d) They are gas actuated relays

139. The distance relay with inherent directional property is known as

(a) Impedance relay (b) Reactance relay
() Admittance relay (d) Ohm relay

140. Which of the following is not a short-circuit test of circuit breakers ?
(a) Dielectric test (b) Making capacity test
(c) Breaking capacity test (d) Duty cycle test

141. The unit protection section provides 3

‘ (a) Primary protection (b) Backup protection

‘(¢) ~Simultaneous protection - (d) Remote protection

142. Which relay is generally used for protection of a.c. motors against over load ?
(@) Impedance relay
(b) Thermal relay
(c) Buchholz relay
(d) Electromagnetic attraction type relay

143. Impedance relay is usually used for protection of
(a) Short line (b) Long line
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144. The time taken for a surge to travel 600 km long overhead transmission line is
(@) 6 sec. e R
(c) 0.02 sec. (d) 0.002 sec.

145. The function of the earth wire in an extra high voltage line is to
(a) prevent earth fault
(b) provide a safety measure from any high flying object
(c) -provide a shield to the phase conductors from direct lightning stroke
(d) provide mechanical strength to the towers

146. The rate of rise of re-striking voltage (RRRYV) is usually expressed in
(a) kV/milisec (b) kV/usec
(c) V/sec - (d) MV/psec

147. The main consideration for higher and higher voltage of transmlsswn isto
(a) increase the efficiency of transmission
(b) reduce power losses
(c) increase power transmission capability
(d) both (a) and (b) above

148. The reflection coefficient for a transmission line shown below at P is

Trans line P
==
ZU =300Q
Load =300 Q
Z = Surge Impedance o
(@ +l o) ~1
© 0 @ 05
149. The voltage across the circuit breaker contacts after final current is zero, is
(a) Recovery voltage (b) Supply voltage
(c) Restriking voltage (d) None of these
150. The contact resistance of a circuit breaker is about
: (a) 20 ohm (b) 2ohm
(c) 20 milli ohm (d) 20 micro ohm *

151. ‘Which of the following method is used for solving differential equations numerically ?
(a) Runge-Kutta method
(b) Gauss-Elimination method
(¢) Newton-Raphson method
(d) None of these
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152. The input impedance of an ideal Op-Amp circuit as given below is

ANV
100 k:

V‘ “""M‘v :
" 10kQ > Vo

AAAN
AA A Ay

10kQ

-
(@ 120kQ (b) 110kQ
(c) infinity @ 10kQ

153. In an inverting amplifier, the two input signals of an ideal Op-Amp are at the same
potential because '
(a) the two input terminals are directly shorted internally.
(b) the input impedance of the Op-Amp is infinite.
(c) CMRR is infinity
(d) the open loop gain of the Op-Amp is infinity

154. When Z, << Z, the following circuit works as :

—

N\
(a) inverting amplifier " (b) Schmitt Trigger
(¢) Non-inverting amplifier (d) Source follower

155. Ifthe in'put' V; of an Op-Amp, as shown in circuit below, is triangular, the output V, will be

—WWA
C : R
Vi i} \
y, Vo
E i
(a) " Square wave (b) Sine wave
: (c) Triangular wave (d): Parabolic wave
156. If a l‘MHz carrier is amplitude modulated with a 5 kHz audio signal, the upp'er.side
‘frequency is e
(a) 1000 kHz "~ (b) 1005 kHz
(c) 995kHz (d) None of the above
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157. In the circuit shown below, the value of output V,, is

A AA
V‘V‘V vy

+1v"—Wv 2.
6kQ >——4»—--vu
s B

(@ +3V (b) -3V
] #7V d -7V

158. Solving x* - 2 = 0 by Newton-Raphson technique, when initial guess Xy = 1.0, then
subsequent estimate of x i.e. x, will be

(a) 1414 (b)) 1.5
¢ 20 (d) cannot be obtained
159. In which of the following methods proper choice of initial value is very important ?
(a) Bisection method (b) False position
(c) Newton-Raphson (d) Bairstow method

160. In analog-computer applications, integrators are preferred over differentiators because
gain of an integrator
(a) decreases with frequency
(b) increases with frequency
(c) does not change with frequency
(d) is zero for all frequencies

161. The circuit given below will work as a phase-shifter, if

R;
—AVA——
R,
EI MAAA i
3=

1 ol

c iks
(@) R, is a variable resistor : (b) R, is a variable resistor
(¢) R, isavariable resistor (d) Any of above

162. If the magnitude of the gain in the circuit shown below with switch S open is K, then with

switch-closed gain will be

8
V"A""‘v - A 'AVY
B 2 2R
Vi =, N
/ —a Vo
‘ -
@ KR 2 (b) 2K
_ (c) K2 : d) -2K
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163. The modes of operation in a differential amplifier is
(a) ‘01 b)) 02
() 03 (d) 04
164. The bandwidth of an RF tuned amplifier is dependent on
(@) Q factor of the tuned input circuit
(b)  Q factor of the tuned output circuit -
(¢) Quiescent operating point
(d) All above
165. The use of a capacitive filter in a rectifier circuit gives satisfactory performance only when
the load : ;
(a) current is high (b) voltage is low .
(c) voltage is high (d) current is low
166. RLC tuned circuit has maximum impedance Z, . = 70 kQ at f = 1000 kHz. Given
Q = 100, the impedance becomes 50 k at frequency f given by
(a) 1000 %200 kHz (b) 1000 £ 100 kHz
(¢) 1000 10kHz (d) 1000+5kHz
167. Which of the following amplifier circuits provides maximum gain band width product ? .
(a) Differential amplifier (b) Cascade amplifier
() Common base amplifier (d) Common emitter amplifier
168. An Op-Amp has a slew rate of 4 V/jis and a peak output swing of 10 volts. The full power
bandwidth will be :
(a) 83.7kC/S - (b) 80.7kC/S
(© 75.5kC/S (d) 89.7kC/S
169. In a digital computer, compared to the integer operation, the floating point operation takes
(a) less time and less memory
(b) less time and more memory
(c) more time and more memory
(d) more time and less memory .
1
170. An amplifier-with middle band gain IAl = 500 has negative feed back IBI = Too: If the
- upper cut off without feed back were at 60 kHz, then with feedback it would become - -
(a) 10kHz : (b) 12kHz |
(¢c) 300kHz (d) 360kHz -
171. In serial I/O communication, data flow can occur in
(a) _Synchronous format only
(b) Asynchronous format only
(c) Either synchronous or asynchronous format :
(d) Full duplex only
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172. The content of the accumulator in an 8085 microprocessor is not altered after the

execution of
(a) CIP3A (b) ANISC
(c) ORAB (d MVIAO3

173. In 8085 miicroprocessor to hold the instruction read from the memory, which of the
following is used ?

(a) Accumulator : (b) Stack pointer
(c) Program counter (d) Instruction register

174. The instruction that loads the contents of program counter with the content of HL register

pair is
(a) ANIData (b) PCHL
(c) *PUSH POP (d XRAB

175. Access in magnetic drum memory is
(a) completely random
(b) sequential and cyclic j
(c) partly random and partly cyclic and sequential
(d) acyclic sequential

176. The five flags in 8085 microprocessor are designated as

(@ ZCy,S,Pand AC (®) D,ZS,Pand AC
() ZC,S,Pand AC (d ZCy,S,Dand AC
177. Which characteristic of a memory chip is called ac characteristic ?
(a) Power consumption (b) Bus loading
(c) Timing characteristic : (d) All the above
178. What type of circuit is used at the interface point of an input port of 8085 ? :
(a) Decoder (b) Tristate buffer
(c) Latch (d) None of the above
179. The software used to operate microprocessor based system is called
(a) Basic interpreter instruction (b) Firm ware
(¢) Machine language code (d). Assembly language
180. A ROM is used to store the table for multiplication of two 8-bit unsigned integers. Correct
‘answer is ‘ : :
(a) 256x16 (b) 64Kx8
(c) 4Kx16 (d 64Kx16
181. How many interrupt control lines are there in 8085 microprocessor ?
(@ 6 ®) 8
(e 12 d 16
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182. The number of output pins of a 8085 microprocessor are
(@ 19 (b) 21
© 27 d) 40
183. A maximum I/O space which can be addressed by 8088 CPU is
(a) 1024 (b) 65536
(c) 2000 (d) 2048
184. Which of the following interrupts has the lowest priority ?
(@) RSTS5.5 - (b) RST75
(¢) INTR (d TRAP
185. The first practical microprocessor was introduced by
(a) National semi-conductor (b) Motorola
(¢) Fair Child (d) Intel
186. If the clock frequency of a 8085 microprocessor is 5 MHz, then time required to execute
an instruction of 18 T-states will be ;
(a) 3.6usec (b) 0.36 usec
() 9.0pusec e (d) 0.9 pusec
187. Transaction processing was made possible by the development of
(a) Direct access storage (b) Magnetic tape
(¢) Mini computer (d) Cash register input
188. Which of the following is a correct definition of volatile memory ?
(a) It loses its contents at high ambient temperatures.
(b) Its contents are lost on failure of power supply.
(c) It has to be kept in air-tight boxes always.
(d) Itis the latest type of bubble memory.
189. The disadvantage of dynamic storage elements is that
(a) power to kept on
(b) information stored previously is lost
(c) storage cells are to be refreshed frequently
(d) none of these
- 190. A source program is the program written in :
. (a) English language (b) Symbolic language
() Machine language ) (d) High level language
191. A semiconductor ROM is basically
' (a) aset of flip-flop memory elements
(b) asequential circuit with flip-flops and gates ‘
(c) acombinational logic circuit : 5
(d) .none of the above
182. U 8085 ArEmIHIAT ¥ fifet fontar R et & 2
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The devices commonly used for serial data transfer to/from 8085 microprocessor are
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193.

194.

195.

196.

197.

198.

199.

200.

192.

(a) Cassette tapes (b) Key boards
(c) Seven-segment LEDs (d) Memory

In a microcomputer, WAIT states are used to

(a) make the processor wait during DMA operation.

(b) make the processor wait during a power interrupt processing.
() make the processor wait during a power shut down.

(d) interface slow peripherals to the processor.

Microprogramming is a technique for

(a) writing small programs

(b) programming the control steps of a computer
(c) programming the microprocessors

(d) programming input/output

The stack is nothing but a set of reversed

(a) *ROM address space (b) I/O address space
(c) RAM address space (d) None of the above
Which of the following is not the transmission voltage in India ?

(a) 66kV - (b) 132kV

(¢) 264kV (d 400kV

The instruction that performs the logic ‘AND’ operation between corresponding bits of
accumulator and 8 bit data specified by instruction is

(a) ANIData (b) PUSH POP

(¢) PCHL (d) RAL

Registers and counters are similar in the sense that they both

(a) store binary information

(b) are made from an array of ﬂlp—ﬂops and gates integrated on a single chip
(c) count pulses ,

(d) are, in fact shift registers

The process of causmg an unplanned branching operation to occur, usually mltlated by
external system is called

(a) Masking : (b) TIteration

(c) Interrupt (d) Debugging

In a 8085 microprocessor system with memory mapped I/O

(a) I/O devices have 8-bit addresses

(b) . T/O devices are accessed using IN and OUT instructions.

(c) There can be a maximum of 256 input devices and 256 output devices.

(d) Arithmetic and logic operations can be directly performed with the I/O data

B0BS ATHHIMIATR /! SreT FrieR Ao # = it iR Wy aeit 8 2
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